BT /3RS
MODEL
/SPEC.

S (SJ-SERIES) FOR HYDRAULIC CHUCKS

ES{ii/UNIT:mm

(2]

a

S-9

BE
Weight (kg)

E{iI/UNIT:mm

2E8

SJ-04

49.5

M8x1.25P

SJ-05

A
oo

M8x1.25P

SJ-06
J-08

73
95

M10x1.5P

M12x1.75P

HE

110

M12x1.75P

129

M16x2P (M14x2P)

SJ-18

HE

SJ-21
SJ-24
SJ-32

0
J-12
15

165
165
180
180
180

® o

M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P

SJ-40

180

©|©© OG5 o uno?;

M20x2.5P

Bk
MODEL
/SPEC.

ES{i/UNIT:mm

SEfGER

» JERIHRE - THEGERIDEEREEMA -
+ " Chandox " mounting plates are available to any kinds of spindle noses.

@-1 Fig.1

H o N L M N Reference Drawing
S-06 35 - 10 10 43 23 3.0 3.0 21 156.5 fig.1
S-08 44.5 40 26 12 16 53 20 3.5 3.5 29 13.5 fig.2
S-10 49.5 50 32 15 18 62 23 3.5 3.5 32 15.5 fig.2
S-12 54.5 60 36 17 20 78 26 35 3.5 36 175 fig.2

SEESARENEE
Serration Pitch  Weight (kg)

2E8
Reference Drawing

HJ-04

HJ-05
HJ-06

1.5x60°
1.5x60°
1.5x60°

Fig.2
Fig.2
Fig.2

HJ-08

1.5x60°

Fig.1

GUSHGIFNEN

1.5x60°

Fig.1

bl

1.5x60°

HJ-10

HJ-15

HJ-18

HJ-21

HJ-24

1.5 x 60"
1.5x 60°
3x60°
3x60°

HJ-32
HJ-40

©|©o|© ©

3x60°
3x60°

Fig.2

£
N B-2 Fig.2
B 5
o
/9 } :IL% S /g IS -3 Fig
==
—] —
CJ__t B-1Fig.1 B-2Fig2 B-3 Fig.3
| #1185 > Specifications | EfI/UNITmm
/iR BHER B/ BRER 2=@
MODEL  Nose of Spindle A H H2 E MODEL  Nose of Spindle A H H2 E Reference
/ SPEC. D /SPEC. D Drawing
T005A4 Ad 0, 26 — % TO04A:4 Ach 85 826 706 40 fig.3
= T005A.5 A5 110 1048 826 45 fig.3
T006A:5 A5 140 1048 - 15 TO06A:4 Ach 140 82.6 1048 20 fig.2
T e 70 i3ad — 17 T006A:6 A6 140 1334 1048 40 fig.3
T008A5 A5 170 1048 1334 23 fig.2
T010A.8 A8 220 1714 - 18 TO08A:8 A8 170 1714 1334 45 fig.3
T010A:6 A6 220 1334 1714 28 fig.2
Lozt A8 220 714 - 18 T012A.6 A6 220 1334 1714 28 fig.2
TO15A.11 A1 300 235 - 22 TO12A:11 At 220 235 1714 54 fig.3
— Fo J— 0 TO15A:8 A8 300 1714 235 33 fig.2
. . - TO18A.8 A8 300 1714 235 33 fig.2
T021A:15 A:15 380 3302 - 27 T021A:8 A8 380 171.4 3302 41 fig.2
T021A:11 Aot 380 235 3302 41 fig.2
R A:20 520 4636 - 27 T024A:11 A1 520 235 4636 42 fig.2
T032A:15 A:15 380 330.2 - 27 T024A:15 A:15 520 330.2 463.6 42 fig.2
T032A: 11 Aot 380 235 3302 41 fig.2
TO40A:15 A15 380 3302 - 27 TO40A: 11 Aot 380 235 3302 41 [B-2 fig.2




